
3.7. TM-090 

Dane techniczno-eksploatacyjne 

n1  

[1/min] 

n2  

[1/min] 
i d P1 [kW] MN  [Nm] PS [kW] M2  [Nm] f 

2
8

0
0

 
373,3 7,5 0,92 7,9 185 4 95 1,97 

280,0 10 0,91 6,4 195 4 125 1,59 

186,7 15 0,88 5,1 230 4 180 1,28 

140,0 20 0,85 3,9 225 3 175 1,29 

112,0 25 0,83 3,0 215 3 215 1,00 

93,3 30 0,79 3,3 265 3 245 1,08 

70,0 40 0,76 2,3 235 2,2 230 1,02 

56,0 50 0,73 1,8 220 1,5 185 1,17 

46,7 60 0,70 1,4 195 1,1 160 1,25 

35,0 80 0,64 1,0 175 0,75 130 1,33 

28,0 100 0,60 0,9 185 0,75 155 1,22 

1
4

0
0

 

186,7 7,5 0,89 6,3 290 4 180 1,58 

140,0 10 0,88 5,1 310 4 240 1,28 

93,3 15 0,85 4,1 360 4 350 1,03 

70,0 20 0,83 3,1 350 3 340 1,03 

56,0 25 0,81 2,4 330 2,2 300 1,09 

46,7 30 0,77 2,6 410 2,2 350 1,18 

35,0 40 0,74 1,8 360 1,5 300 1,20 

28,0 50 0,71 1,4 340 1,1 270 1,27 

23,3 60 0,68 1,1 310 1,1 310 1,00 

17,5 80 0,62 0,8 270 0,75 250 1,07 

14,0 100 0,58 0,73 290 0,55 220 1,33 

9
0

0
 

120,0 7,5 0,89 4,8 340 2,2 160 2,18 

90,0 10 0,88 3,9 360 2,2 210 1,76 

60,0 15 0,85 3,1 420 2,2 300 1,42 

45,0 20 0,83 2,4 410 2,2 390 1,07 

36,0 25 0,81 1,8 390 1,5 320 1,22 

30,0 30 0,77 2,0 480 1,5 370 1,32 

22,5 40 0,74 1,4 430 1,1 350 1,24 

18,0 50 0,71 1,1 400 1,1 410 0,97 

15,0 60 0,68 0,84 360 0,75 320 1,11 

11,3 80 0,62 0,61 320 0,55 290 1,11 

9,0 100 0,58 0,55 340 0,55 340 1,01 

7
0

0
 

93,3 7,5 0,89 4,3 400 1,5 140 2,90 

70,0 10 0,88 3,5 420 1,5 180 2,35 

46,7 15 0,85 2,8 490 1,5 260 1,89 

35,0 20 0,80 2,1 470 1,5 330 1,43 

28,0 25 0,78 1,7 440 1,5 400 1,10 

23,3 30 0,74 1,8 540 1,5 450 1,20 

17,5 40 0,71 1,2 480 1,1 430 1,13 

14,0 50 0,68 1,0 450 0,75 350 1,29 

11,7 60 0,65 0,76 410 0,75 400 1,01 

8,8 80 0,60 0,55 360 0,55 360 1,00 

7,0 100 0,56 0,50 380 0,55 420 0,92 

 

36



tmP
m

Dm

bm

10

O
3

5
H

8

3
8

,3

103 129.5

208

140

1
1

134

140

1
3

O
1

1
0

h
8

100

130

45 45

140

O130

1
0

3
9

02
3

8

1
7

2
3

3

M10x18
Tuleja zdawcza

 13kg 

 

silnik Pm Dm bm tm 

80B14 120 19 6 21,8 

80B5 200 19 6 21,8 

90B14 140 24 8 27,3 

90B5 200 24 8 27,3 

100/112B14 160 28 8 31,3 

100/112B5 250 28 8 31,3 

2
0

0

O
2
1
0

O
175

14

O
1

5
2

H
8

6

13

111

2
0

0

R30
57.5 25

O
2

0

KA

80

84.5

O
3
5
h
6

M12x30

80

O
3
5
h
6

M12x30

84.5

80

84.5

O
3
5
h
6

M12x30

10

3
8

WJ WD

RR

37


